5500 FLANGE BOLT DISC SPRINGS

NOTES:

1. Bolts, nuts and springs should be
liberally lubricated on all surfaces with
Chesterton Nickel Anti-Seize

SERVICED BY:

Compound.

2. Torque values are determined by
calculating the required tensile stress
predicated on the use of undamaged
and properly prelubricated B7 gland
bolts or equivalent in conjunction with
ASME B16.5 flanges.

3. Disc springs above 1 1/2", consult
factory for application review.

INSTALLATION INSTRUCTIONS:
Place (2) springs in parallel under
the head and nut of each flange
bolt and tighten to required
torque as listed.

N N
"

REORDER SIZE APPROX. CALCULATED REQUIRED
NO. FLAT LOAD TORQUE

001239 8 mm Dia. Bolt 13,9 kN 21,7 N'm
001197 3/8" (9,5 mm) Dia. Bolt 5,500 Ibs (24,4 kN) 24 Ibf-ft (32,5 N-m)
001241 10 mm Dia. Bolt 23,0 kN 39,3 N'm
001198 7/16" (11,1 mm) Dia. Bolt 9,800 Ibs (43,5 kN) 40 Ibf-ft (54,2 N-m)
001230 12 mm Dia. Bolt 33,6 kN 69,2 N'm
001201 1/2" (12,7 mm) Dia. Bolt 8,500 Ibs (37,8 kN) 60 Ibf-ft (81,4 N-m)
001247 14 mm Dia. Bolt 46,6 kN 115 N'm
001202 5/8" (15,8 mm) Dia. Bolt 13,500 Ibs (60,0 kN) 120 Ibfft (162,7 N-m)
001203 3/4" (19,0 mm) Dia. Bolt 20,000 Ibs (88,9 kN) 200 Ibf-ft (271,2 N-m)
001233 20 mm Dia. Bolt 99,2 kN 320,0 N'm
001204 7/8" (22,2 mm) Dia. Bolt 27,700 lbs (123,2 kN) 320 Ibf-ft (433,9 N-m)
001234 24 mm Dia. Bolt 144,8 kN 564,1 N-m
001205 1" (25,4 mm) Dia. Bolt 36,000 Ibs (160,1 kN) 490 Ibf-ft (664,4 N-m)
001235 27 mm Dia. Bolt 186,2 kN 813,6 N'm
001206 1 1/8" (28,5 mm) Dia. Bolt 47,500 Ibs (211,2 kN) 710 Ibf-ft (962,8 N-m)
001237 30 mm Dia. Bolt 236,0 kN 1140,4 N-m
001207 1 1/4"(31,7 mm) Dia. Bolt 59,900 Ibs (266,5 kN) 1000 Ibf-ft (1356,0 N-m)
001208 1 3/8" (34,9 mm) Dia. Bolt 74,000 Ibs (329,1 kN) 1360 Ibf-ft (1844,2 N-m)
001238 36 mm Dia. Bolt 352,1 kN 1954,0 N-m
001209 1 1/2" (38,1 mm) Dia. Bolt 90,000 Ibs (400,3 kN) 1600 Ibf-ft (2169,6 N-m)
001242 39 mm Dia. Bolt 418,7 kN 2397 N-m
001210 1 5/8" (41,3 mm) Dia. Bolt 106,300 Ibs (472,8 kN) 2,200 Ibf-ft (2982,8 v)
001211 1 - 3/4" (44,5 mm) Dia. Bolt 124,800 Ibs (555,1 kN) 3,000 Ibf-ft (4067,5 N-m)
001212 1 7/8" (48 mm) Dia. Bolt 144,600 Ibs (643,2 kN) 4,000 Ibfft (5423,3 N-m)
001213 2" (50,8 mm) Dia. Bolt 166,000 Ibs (738,4 kN) 4,400 Ibf-ft (5965,6 N-m)
001214 2 1/4" (57,2 mm) Dia. Bolt 213,100 Ibs (947,9 kN) 6,360 Ibf-ft (8623,0 N-m)
001215 2 1/2" (63,5 mm) Dia. Bolt 266,100 Ibs (1183,7 kN) 8,800 Ibf-ft (11931,2 N-m)
001243 2 3/4" (69,9 mm) Dia. Bolt 325,000 Ibs (1445,7 kN) 11,840 Ibf-ft (16052,9 N-m)
001246 3" (76,2 mm) Dia. Bolt 389,700 Ibs (1733,5 kN) 15,440 Ibf-ft (20933,8 N-m)




FRENCH

5500 RONDELLES RESSORTS DE BOULONNERIE DE BRIDES

NOTE : SERVIGE APRES VENTE

1. Toutes les surfaces des goujons, ASSURE PAR:
des écrous et des ressorts doivent étre
généreusement lubrifiées avec de

I’Antigrippant au Nickel CHESTERTON.
W 2. Les valeurs de couple sont établies | INSTRUCTIONS D’INSTALLATION :

en calculant la résistance & la traction | Placez deux rondelles en paral-

supposant I'usage de boulons N ~
d'étanchéité B7 ou équivalents, |ele sous chacune des tétes et

non endommageés et correctement ecrous de chaque goujon de
prélubrifiés, avec des brides bride et serrez-les selon le
ASME B16.5. couple requis, comme indiqué.
3. Pour les disques de ressort de

plus de 38,1 mm, veuillez consulter
I'usine pour une revue de I'application

N
2

proposée.

REASSORT TAILLE APPROX CHARGE COUPLE REQUIS
001239 Goujon 8 mm Dia. 13,9 kN 21,7 N'm
001197 Goujon 9,5 mm Dia. 24,4 kN 32,5 N-m
001241 Goujon 10 mm Dia. 23,0 kN 39,3 N-m
001198 Goujon 11,1 mm Dia. 43,5 kN 54,2 N-m
001230 Goujon 12 mm Dia. 33,6 kN 69,2 N-m
001201 Goujon 12,7 mm Dia. 37,8 kN 81,4 N-m
001247 Goujon 14 mm Dia. 46,6 kN 115 N-m
001202 Goujon 15,8 mm Dia. 60,0 kN 162,7 N-m
001203 Goujon 19,0 mm Dia. 88,9 kN 271,2 N-m
001233 Goujon 20 mm Dia. 99,2 kN 320,0 N-m
001204 Goujon 22,2 mm Dia. 123,2 kN 433,9 N'm
001234 Goujon 24 mm Dia. 144,8 kN 564,1 N-m
001205 Goujon 25,4 mm Dia. 160,1 kN 664,4 N-m
001235 Goujon 27 mm Dia. 186,2 kN 813,6 N-m
001206 Goujon 28,5 mm Dia. 211,2 kN 962,8 N-m
001237 Goujon 30 mm Dia. 236,0 kN 1140,4 N-m
001207 Goujon 31,7 mm Dia. 266,5 kN 1356,0 N-m
001208 Goujon 34,9 mm Dia. 329,1 kN 1844,2 N-m
001238 Goujon 36 mm Dia. 352,1 kN 1954,0 N-m
001209 Goujon 38,1 mmDia. 400,3 kN 2169,6 N-m
001242 Goujon 39 mm Dia. 418,7 kN 2397 N-m
001210 Goujon 41,3 mm Dia. 472,8 kN 2982,8 N-m
001211 Goujon 44,5 mm Dia. 555,1 kN 4067,5 N-m
001212 Goujon 48 mm Dia. 643,2 kN 5423,3 N-m
001213 Goujon 50,8 mm Dia. 738,4 kN 5965,6 N-m
001214 Goujon 57,2 mm Dia. 947,9 kN 8623,0 N-m
001215 Goujon 63,5 mm Dia. 1183,7 kN 11931,2 N-m
001243 Goujon 69,9 mm Dia. 1445,7 kN 16052,9 N-m
001246 Goujon 76,2 mm Dia. 1733,5 kN 20933,8 N'-m




GERMAN

5500 TELLERFEDERN FUR FLANSCHBOLZEN

N
2

N
2

ANMERKUNG:

1. Alle Oberflachen der Bolzen,
Muttern und Federn sollten griindlich
mit Chesterton Nickel-Antihaftmittel
eingeschmiert werden.

2. Die Drehmomentwerte werden
durch Berechnung der erforderlichen
Zugspannung fiir nicht beschadigte
und ordnungsgemaB vorgeschmierte
B7-Dichtungsdeckelschrauben (oder
gleichwertig) gemeinsam mit

ASME B16.5 Flanschen bestimmt.

3. Bei Tellerfedern iiber 38,1 mm
wenden Sie sich bitte um eine
Anwendungspriifung an das Werk.

SERVICE VON:

EINBAUANLEITUNG: Zwei (2)
Tellerfedern parallel unter

den Kopf und die Mutter jedes
Flanschbolzen legen und auf
das erforderliche Drehmoment
anziehen.

csreune | anosse | UNSemwomer | Spenmucus
001239 Schraube, 8 mm @ 13,9 kN 21,7 N'-m
001197 Schraube, 9,5 mm @ 24,4 kN 32,5 N-m
001241 Schraube, 10 mm @ 23,0 kN 39,3 N-m
001198 Schraube, 11,1 mm @ 43,5 kN 54,2 N-m
001230 Schraube, 12 mm @ 33,6 kN 69,2 N-m
001201 Schraube, 12,7 mm @ 37,8 kN 81,4 N-m
001247 Schraube, 14 mm @ 46,6 kN 115 N-m
001202 Schraube, 15,8 mm @ 60,0 kN 162,7 N-m
001203 Schraube, 19,0 mm @ 88,9 kN 271,2 N'-m
001233 Schraube, 20 mm @ 99,2 kN 320,0 N-m
001204 Schraube, 22,2 mm @ 123,2 kN 433,9 N-m
001234 Schraube, 24 mm @ 144,8 kN 564,1 N-m
001205 Schraube, 25,4 mm @ 160,1 kN 664,4 N-m
001235 Schraube, 27 mm @ 186,2 kN 813,6 N-m
001206 Schraube, 28,5 mm @ 211,2 kN 962,8 N-m
001237 Schraube, 30 mm @ 236,0 kN 1140,4 N-m
001207 Schraube, 31,7 mm @ 266,5 kN 1356,0 N-m
001208 Schraube, 34,9 mm @ 329,1 kN 1844,2 N-m
001238 Schraube, 36 mm @ 352,1 kN 1954,0 N-m
001209 Schraube, 38,1 mm @ 400,3 kN 2169,6 N-m
001242 Schraube, 39 mm @ 418,7 kN 2397 N-m
001210 Schraube, 41,3 mm @ 472,8 kN 2982,8 N-m
001211 Schraube, 44,5 mm @ 555,1 kN 4067,5 N-m
001212 Schraube, 48 mm O 643,2 kN 5423,3 N-m
001213 Schraube, 50,8 mm @ 738,4 kN 5965,6 N-m
001214 Schraube, 57,2 mm @ 947,9 kN 8623,0 N-m
001215 Schraube, 63,5 mm @ 1183,7 kN 11931,2 N-m
001243 Schraube, 69,9 mm @ 1445,7 kN 16052,9 N-m
001246 Schraube, 76,2 mm @ 1733,5 kN 20933,8 N'-m




ITALIAN

5500 MOLLE ENERGIZZANTI PER | BULLONI DELLE FLANGE

NOTE: INSTALLATO DA:
1. Lintera superficie di bulloni, dadi e
molle deve essere ben lubrificata con
il Composto Chesterton Anti
Grippaggio al Nickel.

di trazione necessarie utilizzando f
bulloni per premistoppa BY integri molle in parallelo sotto la testa e

e adeguatamente prelubrificati o due sotto i.| dado per ogni buIIor]e
equivalenti insieme a flange ASME della flangia e serrare alla coppia

B16.5. indicata nella tabella.
3. Per molle energizzanti oltre a
38,1 mm, consultare la fabbrica per

2. | valori di torsione vengono ISTRUZIONI PER
determinati calcolando le sollecitazioni | ['|NSTALLAZIONE: Collocare due

N
2

I"applicazione.

REF. N DIMENSIONI CARICO APPROX. MOMENTO TORCENTE
001239 8 mm Diam. Bullone 13,9 kN 21,7 N-m
001197 9,5 mm Diam. Bullone 24,4 kN 32,5 N'm
001241 10 mm Diam. Bullone 23,0 kN 39,3 N'm
001198 11,1 mm Diam. Bullone 43,5 kN 54,2 N-m
001230 12 mm Diam. Bullone 33,6 kN 69,2 N-m
001201 12,7 mm Diam. Bullone 37,8 kN 81,4 N-m
001247 14 mm Diam. Bullone 46,6 kKN 115 N-m
001202 15,8 mm Diam. Bullone 60,0 kN 162,7 N-m
001203 19,0 mm Diam. Bullone 88,9 kN 271,2 N'm
001233 20 mm Diam. Bullone 99,2 kN 320,0 N'm
001204 22,2 mm Diam. Bullone 123,2 kN 433,9 N'm
001234 24 mm Diam. Bullone 144,8 kN 564,1 N-m
001205 25,4 mm Diam. Bullone 160,1 kN 664,4 N-m
001235 27 mm Diam. Bullone 186,2 kN 813,6 N-m
001206 28,5 mm Diam. Bullone 211,2 kN 962,8 N-m
001237 30 mm Diam. Bullone 236,0 kN 1140,4 N-m
001207 31,7 mm Diam. Bullone 266,5 kN 1356,0 N-m
001208 34,9 mm Diam. Bullone 329,1 kN 1844,2 N-m
001238 36 mm Diam. Bullone 352,1 kN 1954,0 N-m
001209 38,1 mm Diam. Bullone 400,3 kN 2169,6 N-m
001242 39 mm Diam. Bullone 418,7 kN 2397 N-m
001210 41,3 mm Diam. Bullone 472,8 kN 2982,8 N-m
001211 44,5 mm Diam. Bullone 555,1 kN 4067,5 N-m
001212 48 mm Diam. Bullone 643,2 kN 5423,3 N-m
001213 50,8 mm Diam. Bullone 738,4 kN 5965,6 N-m
001214 57,2 mm Diam. Bullone 947,9 kN 8623,0 N-m
001215 63,5 mm Diam. Bullone 1183,7 kN 11931,2 N-m
001243 69,9 mm Diam. Bullone 1445,7 kN 16052,9 N-m
001246 76,2 mm Diam. Bullone 1733,5 kN 20933,8 N'm




SPANISH

5500 RESORTES DE DISCO PARA PERNOS DE BRIDA

NOTAS:

N
2

N
2

1. Los pernos, tuercas y resortes
deben lubricarse profusamente en
todas sus superficies, con el
Compuesto Anti-Adherente a Base de
Niquel Chesterton.

2. Los valores de torsion son
determinados calculando el esfuerzo
de tension requerido, indicado para
el uso de pernos de brida B7 o equi-
valente no dafiados y prelubricados
correctamente, juntamente con

las bridas ASME B16.5.

3. Para resortes de disco de mas de
38,1 mm, consulte con la fabrica para
analizar la aplicacion.

INSTALADO POR:

INSTRUCCIONES DE
INSTALACION: Coloque 2 (dos)
resortes en paralelo debajo del
cabezal y tuerca de cada perno
de la brida, y apriete al par de
torsion requerido segun la lista.

NO. PARA TAMANO CARGA PLANA PAR

PEDIDOS CALCULADA APROXIMADA REQUERIDO
001239 8 mm Diam. Perno 13,9 kN 21,7 N'-m
001197 9,5 mm Diam. Perno 24,4 KN 32,5 N-m
001241 10 mm Diam. Perno 23,0 kN 39,3 N'm
001198 11,1 mm Diam. Perno 43,5 kN 54,2 N-m
001230 12 mm Diam. Perno 33,6 kN 69,2 N-m
001201 12,7 mm Diam. Perno 37,8 kN 81,4 N-m
001247 14 mm Diam. Perno 46,6 kKN 115 N-m
001202 15,8 mm Diam. Perno 60,0 kN 162,7 N-m
001203 19,0 mm Diam. Perno 88,9 kN 271,2 N'-m
001233 20 mm Diam. Perno 99,2 kN 320,0 N-m
001204 22,2 mm Diam. Perno 123,2 kN 433,9 N'm
001234 24 mm Diam. Perno 144,8 kN 564,1 N-m
001205 25,4 mm Diam. Perno 160,1 kN 664,4 N-m
001235 27 mm Diam. Perno 186,2 kN 813,6 N-m
001206 28,5 mm Diam. Perno 211,2 kN 962,8 N-m
001237 30 mm Diam. Perno 236,0 kN 1140,4 N-m
001207 31,7 mm Diam. Perno 266,5 kN 1356,0 N-m
001208 34,9 mm Diam. Perno 329,1 kN 1844,2 N-m
001238 36 mm Diam. Perno 352,1 kN 1954,0 N-m
001209 38,1 mm Diam. Perno 400,3 kN 2169,6 N-m
001242 39 mm Diam. Perno 418,7 kN 2397 N-m
001210 41,3 mm Diam. Perno 472,8 kN 2982,8 N-m
001211 44,5 mm Diam. Perno 555,1 kN 4067,5 N-m
001212 48 mm Diam. Perno 643,2 kN 5423,3 N-m
001213 50,8 mm Diam. Perno 738,4 kN 5965,6 N-m
001214 57,2 mm Didm. Perno 947,9 kN 8623,0 N-m
001215 63,5 mm Diam. Perno 1183,7 kN 11931,2 N'-m
001243 69,9 mm Diam. Perno 1445,7 kN 16052,9 N-m
001246 76,2 mm Diam. Perno 1733,5 kN 20933,8 N-m




JAPANESE

<} CHESTERTON.

Global Solutions, Local Service.

5500 75V cKIVb c T4 R « ATV VYT

= RS ©
1. RV Fy b ZTUVYT
DIRNTDER@TF T AZ—F

DT VF =X aAVIND
VREZHL, THICEBLT

k \? (rzEn e B4R :

2. ASMEB16.57 5> L fEIC S5~ . 8 N

Bt EULMAE AR 57707 pEsIe NS

BOEVBIY S FRIV M sBLNE | L oo AL L
W /f SRl U CRERA RS | 7 Z2ARTATICEE, sl

EEHTBCET. MLofED | THBHE NIVIEILES

REENET ETHDIF T LT,

3. H A XH381 mmL LD T 1

ARG« 2T 7ICELTIE

I HAE I TR TEE L,

BINES H14X TEaFREE BEMNVY
001239 E%8 mmmR/L k 13.9 kN 21.7 N'm
001197 BE129.5 mmA/L k 24.4 kN 32.5N-m
001241 BE1Z10 mmAIL ~ 23.0 kN 39.3N:m
001198 BEE11.1 mmAR)b b 43.5 kN 54.2 N-m
001230 BER12 mmAIL k 33.6 kN 69.2 N-m
001201 BEE12.7 mmR)L + 37.8 kN 81.4 N-m
001247 BEE14 mmAR)L b 46.6 kN 115 N-m
001202 B7%15.8 mmAR/L b 60.0 kN 162.7 N-m
001203 BE7%19.0 mmAIL b 88.9 kN 271.2 N-m
001233 BE220 mmAIL k 99.2 kN 320.0 N-m
001204 B1%22.2 mmARJL k 123.2 kN 433.9 N-m
001234 B1%24 mmAIL ~ 144.8 kN 564.1 N-m
001205 BE1%25.4 mmAIL + 160.1 kN 664.4 N-m
001235 BER27 mmAIL k 186.2 kN 813.6 N-m
001206 BE1228.5 mmAJL bk 211.2 kN 962.8 N-m
001237 BE1E30 mmAL k 236.0 kN 1140.4 N-m
001207 BE1231.7 mmAIL + 266.5 kN 1356.0 N-m
001208 BE1234.9 mmAL k 329.1 kN 1844.2 N-m
001238 BE1236 mmAR/L 352.1 kN 1954.0 N-m
001209 E1%38.1 mmARJL k 400.3 kN 2169.6 N-m
001242 E1239 mmAIL k 418.7 kN 2397 N-m
001210 BE241.3 mmAIL k 472.8 kN 2982.8 N-m
001211 BE£44.5 mmARJL k 555.1 kN 4067.5 N-m
001212 1248 mmARL b 643.2 kN 5423.3 N-m
001213 E1£50.8 mmARL k 738.4 kN 5965.6 N-m
001214 BE1%57.2 mmAJL b 947.9 kN 8623.0 N-m
001215 B1%63.5 mmARL b 1183.7 kN 11931.2 N-m
001243 E1£69.9 mmRL k 1445.7 kN 16052.9 N-m
001246 BE1276.2 mmAIL + 1733.5 kN 20933.8 N-m




SWEDISH

5500 TALLRIKSFJADRAR TILL FLANSSKRUVAR

N
2

N
2

ANMARKNINGAR:

1. Skruvar, muttrar och fjadrar skall
smorjas rikligt pa alla ytor med
Chesterton monteringspasta.

2. Atdragningsmomenten &r
bestdmda genom berékning av
erforderlig dragspénning baserad

pa anvéandning av oskadade och
korrekt smérjda B7 glandskruvar
eller motsvarande samt flansar av typ
ASME B16.5.

3. Radfraga fabriken for Gversyn av
applikationen om storre tallriksfjadrar
&n 38,1 mm ska anvéndas.

OVERSYN UTFORD:

INSTALLATIONSANVISNINGAR:
Placera (2) fjadrar parallellt med
varandra under skruvskalle och
mutter pa varje flansskruv och
drag &t med det moment som
anges nedan.

001239 8,0 mm Skruv-diam. 13,9 kN 21,7 N'-m
001197 9,5 mm Skruv-diam. 24,4 kN 32,5 N‘m
001241 10,0 mm Skruv-diam. 23,0 kN 39,3 N-m
001198 11,1 mm Skruv-diam. 43,5 kN 54,2 N-m
001230 12,0 mm Skruv-diam. 33,6 kN 69,2 N-m
001201 12,7 mm Skruv-diam. 37,8 kN 81,4 N-m
001247 14 mm Skruv-diam. 46,6 kKN 115 N-m
001202 15,8 mm Skruv-diam. 60,0 kN 162,7 N'-m
001203 19,0 mm Skruv-diam. 88,9 kN 271,2 N'm
001233 20,0 mm Skruv-diam. 99,2 kN 320,0 N-m
001204 22,2 mm Skruv-diam. 123,2 kN 433,9 N'm
001234 24,0 mm Skruv-diam. 144,8 kN 564,1 N-m
001205 25,4 mm Skruv-diam. 160,1 kN 664,4 N-m
001235 27,0 mm Skruv-diam. 186,2 kN 813,6 N-m
001206 28,5 mm Skruv-diam. 211,2 kN 962,8 N-m
001237 30,0 mm Skruv-diam. 236,0 kN 1140,4 N-m
001207 31,7 mm Skruv-diam. 266,5 kN 1356,0 N-m
001208 34,9 mm Skruv-diam. 329,1 kN 1844,2 N-m
001238 36,0 mm Skruv-diam. 352,1 kN 1954,0 N-m
001209 38,1 mm Skruv-diam. 400,3 kN 2169,6 N-m
001242 39 mm Skruv-diam. 418,7 kN 2397 N-m
001210 41,3 mm Skruv-diam. 472,8 kN 2982,8 N-m
001211 44,5 mm Skruv-diam. 555,1 kN 4067,5 N-m
001212 48 mm Skruv-diam. 643,2 kN 5423,3 N-m
001213 50,8 mm Skruv-diam. 738,4 kN 5965,6 N-m
001214 57,2 mm Skruv-diam. 947,9 kN 8623,0 N-m
001215 63,5 mm Skruv-diam. 1183,7 kN 11931,2 N-m
001243 69,9 mm Skruv-diam. 1445,7 kN 16052,9 N-m
001246 76,2 mm Skruv-diam. 1733,5 kN 20933,8 N'm




CHINESE

5500 Z =R RS

ER: RFRER:

1. z{ A Chesterton 485+ 3E5 %t

2i¢. BEIEENTEREH

TRMIEE.

2 NIBXI5 ASME B16.5 AA=RE [T

k \\? ERNESTRBNER E | RARIRH:
BERHEREENFORANY | BQMEERTETFES
PETARRBEARE. IR IR B T
7 S ISR | B, AR RO

%, B5 KBRRHIT AR ;

T H5E,
BiTHS ki TEE TR s
001239 8 mm HZIEH 13.9 kN 21.7 N-m
001197 9.5 mm HRREH 24.4 kN 32.5 N-m
001241 10 mm EREI8% 23.0 kN 39.3 N'm
001198 11.1 mm HRE® 43.5 kN 54.2 N-m
001230 12 mm HEZEEHE 33.6 kN 69.2 N-m
001201 12.7 mm EfRi244 37.8 kN 81.4 N-m
001247 14 mm EZIg1 46.6 kN 115 N-m
001202 15.8 mm HE B4 60.0 kN 162.7 N-m
001203 19.0 mm ERE% 88.9 kN 271.2 N'm
001233 20 mm HRREH 99.2 kN 320.0 N'm
001204 22.2 mm EZIg# 123.2 kN 433.9 N-m
001234 24 mm HIR1E1% 144.8 kN 564.1 N-m
001205 25.4 mm EZE% 160.1 kN 664.4 N-m
001235 27 mm BHRRER 186.2 kN 813.6 N'm
001206 28.5 mm EZIg# 211.2 kN 962.8 N-m
001237 30 mm HR1g1 236.0 kN 1140.4 N-m
001207 31.7 mm ERE% 266.5 kN 1356.0 N-m
001208 34.9 mm HZE# 329.1 kN 1844.2 N-m
001238 36 mm HR2# 352.1 kN 1954.0 N-m
001209 38.1 mm H{Zigi¢ 400.3 kN 2169.6 N-m
001242 39 mm EREH% 418.7 kN 2397 N-m
001210 41.3 mm EZig 472.8 kN 2982.8 N-m
001211 44.5 mm HZE1 555.1 kN 4067.5 N-m
001212 48 mm HIZ181¢ 643.2 kN 5423.3 N-m
001213 50.8 mm E{Zi2#¢ 738.4 kN 5965.6 N-m
001214 57.2 mm EZ1EH% 947.9 kN 8623.0 N-m
001215 63.5 mm Ef2iE 1183.7 kN 11931.2 N.m
001243 69.9 mm E{ZiE1E 1445.7 kN 16052.9 N-m
001246 76.2 mm HZI2H 1733.5 kN 20933.8 N-m

@CHESTERTO N Chesterton ISO certificates available on www.chesterton.com/corporate/iso
®

Global Solutions, Local Service.

860 Salem Street

Groveland MA 01834 USA

Telephone: 781-438-7000 Fax: 978-469-6528
www.chesterton.com

© A.W.Chesterton Company, 2008. All rights reserved.

® Registered trademark owned and licensed by EN/FR/DE/IT/ES/JA/SV/ZH
A.W.Chesterton Company in USA and other countries. FORM NO. 071910 REV. 7 PRINTED IN USA 5/08





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


